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QUESTION 1

A developer has joined HalCo GmbH, working on a container-based project. The project architect has targeted Red Hat
OpensShift on IBM Cloud cluster for the project implementation and deployment. HalCo\\'s CISO has independently
dictated that the company will use Twistlock for container vulnerability scanning on all projects and that each cluster
must provide a results dashboard. What can the developer propose to integrate the two needs most efficiently?

A. Configure the Vulnerability Advisor in the IBM Container Registry service to scan using the Twistlock API

B. Deploy a Twistlock DaemonSet on your cluster to populate a dashboard in Grafana service.

C. Configure an IBM Cognos Dashboard Embedded service in your application to report vulnerability findings from
HalCo\\'s central Twistlock repository

D. Use IBM Cloud\\'s Security Advisor and configure a Twistlock configuration URL provided by information security

Correct Answer: D

QUESTION 2

Why is separation of duty essential for cloud native application development?
A. To ensure protection from malicious attacker

B. To ensure users only have the access to the resources to perform their job
C. To ensure that each microservice only performs one essential task

D. To ensure protection from vulnerabilities

Correct Answer: A

QUESTION 3

What are the core functionalities for IBM Cloud Pak for Automation?
A. API lifecycle Management. Enterprise Messaging, Digital Workers
B. Content Management. Workflow. Decisions

C. Capture. Digital Workers. Enterprise Messaging

D. Workflow. Decisions. API lifecycle Management

Correct Answer: A

QUESTION 4

A developer wants to build a mobile-based CRUD microservice backed by a IBM Cloud Databases for PostgreSQL and
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wants to test the microservice on IBM Cloud. Which tool can best satisfy this requirement?
A. Mobile First Platform

B. DataPower that runs as a container

C. API Connect Toolkit

D. IBM Developer Portal

Correct Answer: B

QUESTION 5

A developer is starting a new microservices project in an organization that uses a corporate framework for all projects,
containing some standard configurations for best practices and compliance and located in an enterprise GitHub
repository. This framework can be updated over time and projects can contribute with its evolution by submitting code
changes.

To create a development environment, this developer is creating a toolchain in IBM Cloud, using the Continuous
Delivery service, and the first tool added is GitHub. On the configuration page, the developer must configure the
repository type to use in the toolchain.

Considering the above scenario, what option must be selected?

A. The developer must select the "Existing" option

B. The developer must select the Clone™ option

C. The developer must select the \\'Fork" option

D. The developer must select the \'New" option

Correct Answer: D
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